ECE 2300 Exam 2 – April 12, 2003 – Page 2

Name:  _____________________________ (please print)

Signature: __________________________

Circle your class time:    4-5:30PM, TuTh    1-2:30PM, MW    8:30-10AM, TuTh

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

ECE 2300 -- EXAM #2

April 12, 2003
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1.  ________________/1

2.  ________________/30

3.  ________________/30

4.  ________________/40








Total = 101

Statement:  I understand the Academic Honesty Policy of the University of Houston.  I certify that I will not communicate with any other person concerning the material on the exam while I am taking this exam.

Signature:  ___________________________________   Date:  ________________

1)  {1 Point} On the front page, circle your class time.

Room for extra work

2)  {30 Points}  For the circuit shown, find the Norton equivalent as seen by terminals  a  and  b .  

Draw the equivalent circuit, showing terminals  a  and  b  on your circuit, and showing the numerical values of the circuit components.
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 3)  {30 Points}  In the circuit shown below, the switched closed at t = 0.  No energy was stored in the capacitor, and no energy was stored in the inductor, at t = 0.  The expression for vS(t) is given below.

Find the power delivered by the voltage source at t = 5[s].  
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 4)  {40 Points}  In the circuit shown, the switch had been in position  a  for a long time.  At t = 0, the switch was moved instantaneously to position  b , and stayed there for 0.1[s].  Then, at t = 0.1[s], the switch was moved instantaneously back to position  a , and remained there.

For the time periods 0 < t < 0.1[s] and t > 0.1[s], find the numerical expressions for the voltage vR(t), as defined in the circuit.
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 2)  {30 Points}  For the circuit shown, find the Norton equivalent as seen by terminals  a  and  b .  

Draw the equivalent circuit, showing terminals  a  and  b  on your circuit, and showing the numerical values of the circuit components.
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 3)  {30 Points}  In the circuit shown below, the switched closed at t = 0.  No energy was stored in the capacitor, and no energy was stored in the inductor, at t = 0.  The expression for vS(t) is given below.

Find the power delivered by the voltage source at t = 5[s].  
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